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Instructions :

1) All questions are Compulsory,

if)  This question paper has two sections ‘A’and ‘B’.

iii) Section ‘A’ contains 20 multiple choice type questions O
each that has to be answered on OMR Answer Sheet by darker. -
completely the correct circle with blue or black ballpoint pen.

iv) After giving answer on OMR Answer Sheet do not cut or uUse €raser
whitener etc.

v) Section ‘B’ contains descriptive type questions of 50 marks.

vi) Total 5 questions are there in this section.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last question. Do not
waste your time on the question you cannot solve.

x) If you need place for rough work, do it on the left page of your
answer book and cross ( x ) the page. Do not write any solution on
that page.

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it

Is necessary, otherwise in its absence the solution will be treated
incomplete and wrong,

qug - A

r 1 I'T.r:f'-

1. qf@g g@ g
@ V20 B) V3
€ 9 . - D) V7
1.  Rational number wi]] be ;
a) V2 B) V3
) Vo D) 7
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. 1
: a#0
2. The shape of the graph of a quadratic equatjon !1f=:ra‘:‘-'Ji¢:E FARE _
will be
(A) Par abola (B) Re ctangular l
(C) Straight line (D)  Circular
3. Wﬁm _i_'_:%, qx+-by={12+b2 ﬁywmm
(A) a (B) ab
b 1
(C) b D) > | |
3. In the system of equations _;;-=%, ax+by=a2 +b?, value of ¥ will be
(A) a (B) ab
2 1
(C) b D) -
4. gfe @ftemr x*-4x+a=0 ¥ FI¢ grafas g T8 ¢ al
(A) a<4 (B) a>4
(C) a<2 (D) a<4 1
4. If the equation x? —4x+a=0has no real roots then
(A) a<4 (B a> 4
(C) a<?2 (D) a<4 1
s ¥R J2, 242,32, 1 1031 9g &
(A) V242 (B) J288
(C) V200 (D) 162 | L
58 10th term of the sequence \E, 2,/5_3,/5,... will be
(A) V242 (B) 288
(C) V200 D) 162
1
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6. fefafega groft &1 a1 gm
g e
gl aaqd | 0-5 5-10 10-1=> | 15-20
___.4..————‘—_'—*—1'
Sﬁﬁ 2 4 6 10
‘—_’-’;\
(A) 84 (B) 8444
(C) 1295 (D) 13:05
6. The mean of the following table will be
[ Class-interval b 0-5 5-10 10:5 15-20
; 2 4 10
Freqaenr:): - _ l
(A) 84 (B) 8444 —
(C) 12:95 (D) 1305 1
7.  afeé AABCTYT ADEF B gg ?g g, a3 A1 B wwey e af
(A) £B =LE (B) ZA=/LF
7. Ifin AABC and ADEF, gg ?S then they will be similar if
Al <B =<E | (B) ZA=/F
(C) ZA = /D . (D) /B =D | 1
8. & (0,4),(0,0) 3k ('S,O]Hﬁﬁ‘gqmqmam
b (B) 11
C |
(C) 12 D) 7403 | 1
8. The per * .
wﬂ‘: l;3’;‘!‘1'1rmmz:r of a triangle whose vertices gre (0,4), (0, 0)and (3, 0)
(A) 5
B) 11
C) 12 o) |
| -
9. 3 3¢ Vo
A 3 |
) B 5
c 3 4
¥ D) 3 !
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g 1f 3tanA=4 then the yalue of sec A will be

3

(A) (B)

3
(C) % (D)

Wl sl

10. 3fg tana +cota=5 g _tan2a+c0t2a %1 TH &)

A 27 (B) 28 1
© 23 (D) 25.
10. If tana +cota=3 then value of tan® o +cot’ o will be
A 27 | B) 28 1
11 af: sind=cosecd @M 0 <0< /2 A 0H A &M
(A) © | | B) n/4 -
(C) =/2 D) = '
11. If siné=cosecd and 0 SO =™ /2 then the value of 0 will be
(A) O - . B) n/4 1
(C) =/2 (D)
12 gfe sin @ —cos B = O @l sin 9+cns4ﬂ %1 79 B0
| 1
L B) 3
(A 7 |
(C) 3 (D) 1
4
' O will b
12. Ifsin@-cos®=0 then the value of sin g+cos 0 will be
| 1
B 5
: 2
(A) 2
© 3 o 1
4 4 G aUI QO &I =
13. @ﬁﬁ@ﬂ@ﬁq{;: sl
25 A & @ ga A s "
A B) 12
(C) 158
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13. The length of tangent from a point Q to @ CIFCl€ is 24 cm and the distan,

of O from thc centre of cirele js 25 cm then radius of the circle will be

(A) 7em By leEE

(C) 15cm (D) 24-5 cm ]
14 afe vh fag PR O"‘Faﬁﬁr@ﬁqﬁm PA, Pﬁmmmamtaﬁmm

7! 7 a1 LPOA &I

(A) 40° (B) 50°

(C) 70° (D) 80° 1
14. If tangents PA and PB from a point Pto a circle with centre O are inclined

to each other at an angle 80° then £POA will be

(A) 40° (B) 50°

(C) 70° (D) 80° 1
15. r Bear 9@ 99 % 39 frougs w1 Sawa, Fws S e° 2, gm

(A) 130 « 2mr (B) 7gox 2nr?

(C) 120 x ur2 (D) 32 =x 2nr - ]

15. Area of the sector of an m';g_le 0° of a circle with radius r will be

0 ' 0 2
B
(A) 20" 2Anr (B) 720:-: 2nr
0 2
C D | 1
(C) T (D) 360x 2nr

16. Eaﬁammaamﬁtﬁ%wmmﬁzoﬁﬁ%lmﬂmmﬂ
G BIM

(A) 20 n &t (B) 10 n Ff°

(C) 140 x atf? f D) 80 x A3 1

16. The diameter of 5 solid pipe is 4 cm whose length is 20 cm. Then the

volume .qr the meta] used in the pipe will be

Al 20 xem? B) 10 xcm?

(C] 140 T C 3 '

6000/62
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17. fm%@mmﬁmlgdmg}mm

2

(A) 2nr

, (E] 4'-'”'2 . 1
() 3nr D)  6rr? |
17. Total surl;aﬂﬁ arca of a solid hemisphere with radius r will D€
(A) 2nr - (B)  4ar?
. 1
(C) 3nr (D) 6rr?
18, FrefeiRad @t &1 myogss of @ __
+ i T 40-50
- 3T 0-10 | 1020 | 2030 | 30-40 it
[ T 18 %
qERl | = . 12
(A) 10-20 ~ (B) 20-30 ' 1
(C) 30-40 (D) 40-30

18. The median class of the following table will be
Class-ix;tervﬁ_

0-10 10-20 20-30
2 g | 12

Frequency
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-30
10, TS SRERAT ARV{ I WIEA T HES S 30 @Y1 35
(A) 40 (B) 49 1
© 55 (D) 48 ~

Then its mode will be

(B) 45
:2]] :g (D) 48 . ,
20 ﬂﬁf{ﬂ;mﬁﬁfﬂﬂwﬁﬂzﬂ%,?ﬁwﬁmﬁm
| 1
" = B 3
\ D) 1 - 1
(I? X curs cc:rtainly, then 1S prnbabnllty will be
20. an event ocC .
NI B 3
4 o !
C) o 1
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Section — B

( SutTeRS T )
[ Descriptive question® ) .
1. | @Ue hITAT :

(a) 3= uiAEvs fafy gra 2520 X 10530 ®1 TToHo T HoHo G JIEL

2

(b) fig HFT 76 2J3 wH iy GEA g 2

() TR F T@1 ABC P &1 s g @1 AC 1 ;D T4l E T Sidwk

AD _AE
ot o s BC % wR @ ) fag AR R G5 =0 ® 2

7 YETEee # 2 : 3 H Tl
2

(d) fa=gati A(-1,7)7u B(4,-3)% faem
0 9 farg % P wia HiTl

sin0 ,
(e) gfe cosec 0 = 2 gl dl C0t0+-1+c_osﬂ <l {HH IATd R?Iﬁ"l'QI

(f) fre iR 5 g (S, - 2., (6, 4) 3K (7, - 2 ) TH wATgETg P s
ofid 21 | 2

4

I Do all the parts :

o

(a) Find the LCM and HCF of 2520 and 10530 by prime factorizatiof
method. | )

(b) Prove that 2\[5 IS an irrational number. )

(c) If a line intersects the sides AB and AC at D and E respectively iné
triangle ABC and it 18 parallel to the gi4e BC then prove
AD AE 9
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G
ent

[dj Flnd the CD-DrdinEtﬂﬂ of the pﬂint 1 o the linﬂ ﬁ]’n
J Points A (- 1,7)and B(4,- 3 in the rati® 2~ =

. 2

(e) If cosec 0 =2 then find the value of cotg+-_ S0
l1+cos®B

' f
() Prove that the points (5,-2), (6,4 ) and (7, - 2) &€ "¢ vertes” ﬂ?

an isosceles triangle.

0. fadl U @UST FI BT M -
(a) REse 6 Waw i 3x—-y=2?ﬁngx_3y=5a;3ﬁ$'é'ﬁﬁﬁ'
(b) I F 6l fag p @ w10 e 3R waw F A
m%ﬁmm@mg;m%mwpgmmﬁug,aﬁm@
& @18 1 S| 4
ﬁﬂﬁﬁﬂ%ﬁﬁm%ﬁﬁwmgamﬁm%ﬁﬂﬁﬁmﬁm
mﬁﬂﬁ@wmﬁz?mﬁlmmml 4
(d) ﬁ#nﬁﬁaﬁuﬁm=Ac€ra’rmiﬁmféﬁBE=Ec%f 4

(c)
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2. poany fivepans:

(a) Show tha! the lincar equations 3x-¥=2 and 9x-3y=6 has man;
solutions. 4
(by The angle of elevation of the top of 10 metre high building from a
point Pon the carth is 30°, There is a 128 on the top of the building.
Angle of elevation of the top of the flag Irom the point Pis 45°. Find

the length of the flag, 4

(c} The sum of the digits of a two digit number is 9_ [ the digits of the
number be interchanged then the new number is 27 more than the

~ original number. Find the number. http:s:ﬁwww.upboardon!ine.cam 4

(d) In the given figure if AB = AC then prove that BE = EC 4

, E
{¢) 1 the median of the following frequency table is 28-S then find the
values of x and y where the sum of frequencies is 80. =

(¥ scanned with OKEN S
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3. I cost of 4 -
Chairs and 7 tables is Rs. 360 and cost of 6 chairs and

0, then [ind the cost of one chair and one table
6

10 tables is Rs 52
scparately.

OR
.3’250* He paid Rs, 20 in first month and

in the payment of every month. Then find in how
many months he Paid the loan. 6

4. T TENE T F i @ 3@ R 8 e $2 v ¥ e 791 97 A
FEATA B FHAY. 30° U1 45° T T §| Agufer waa ) Fard AR A N
& =9 $I gt 719 hifyg 6

HAGqr

A person takCS a lgan of Rs.
then increased Rg. 15

firg HIT 1% (sino+ cosec)® +(cos8+sec8)’ =7 +tan®0+cot’ 0. 6

4. On seeing from the top of a multi-storeyed building the angles of
depression of top and ground of 8 metre high house are found to be
30° and 45° respectively. Find the height of the multistoreyed building

and distance between both the buildings. 6
OR | *

Prove that (sin0+ cusec9]2+(cn59+sec9]2:7+tan2 0+cot’ 9. 6
5. f W R &1 gupl gy Sake 3 #IN @ AB = 3-5 Wft qul faed A
¥ cp=safial 6

B

A = B
D
Hqdr

T A R o g 85 P @ ey F g 37 T I Fdvs ) 1 @ wreh
R S 21 7 aed 3 B Ay @redt A A BT TR AW 9fy I 3 wng

SRS § )

6000/62 |
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5.  Find the total surface area of the given l1BUr¢ where AB = 3-S5 cm and

height of the toy CD=5em. 6
-~
7N
A = B
D
OR

If a pipe drained the water from a semi-spherical tank filled by water at
the rate 3% litre per second, how much time will the pipe take to drain

half of the water of the tank, if the diameter of the tank is- 3 m ? 6

822(HZ) - 3,28,000
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